ISKLem
The solid shafi has a diameter of 40 mm. ‘{—

Determine the absolute maximum shear stress in the shaft 1S N
and sketch the shear-stress distribution along a radial line of -~
the shaft where the shear stress is maximum. & LON.m
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The solid shaft has a diameter of 40 mm. f—
Determine the angle of twist of gear E relative to gear A fal o
Take the length of each shaft as 200 mm and G=30 GPa. s o
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The solid shaft shown i1s formed of a brass for which the
allowable shearing stress is 55 MPa. Neglecting the effect of
stress concentrations. determine the smallest diameters dyz and
dgc for which the allowable shearing stress is not exceeded.
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The solid shaft shown i1s formed of a brass for which the
allowable shearing stress is 55 MPa. Neglecting the effect of
stress concentrations. determine the smallest diameters dyz and
dgc for which the allowable shearing stress is not exceeded.
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The AY92 steel shaft has a diameter of 60 mm and is
fixed at its ends A and B. If it is subjected 1o the torgues
shown. determine the absolule maximum shear stress in the

shaft.
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The AY92 steel shaft has a diameter of 60 mm and is
fixed at its ends A and B. If it is subjected Lo the torqn
shown, determine the absolute maximum shear stressin |
shaft.
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Two solid cylinders AB and BC are bonded together at B and attached to fixed
supports at A and C. AB is made of aluminum (G = 26 ¢Pa) and BC of brass (t =
39 GPa), determine the maximum shearing stresses in each shaft.
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Two solid cylinders AB and BC are bonded together at B and attached to fixed
supports at A and C. AB is made of aluminum (G = 26 ¢Pa) and BC of brass (t =
39 GPa), determine the maximum shearing stresses in each shaft.
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Two solid cylinders AB and BC are bonded together at B and attached to fixed
supports at A and C. AB is made of aluminum (G = 26 ¢Pa) and BC of brass (t =
39 GPa), determine the maximum shearing stresses in each shaft.
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